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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section—-A / Gls—d
(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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e @ ‘P W AR (04) <Y S WA il T

1.

TAG Y b oy SN (19) e fwiRa B
iR o g9 W ®aa a1 (02) U @ SR oA
g
Define accounting. Who are the users of accounts and
state their information needs.

GG B URMINT I | o@l B SUIRTE
PIA-BII & AT ST G G JARIDAN | DI
qdigy |

What is ratio analysis ? How would you analyze the
financial position of a company from the point of view

of an investor, a creditor and a financial executive of
the company ?

U fazelor @ & ? ve faf e, Ua e
qA BRI BRI SRR BT 3 H MY Y Hwil
@ foxia Reifer &7 fazeryor 3y g gaR o ?

The following is the Trial Balance of Shri Ram Kumar
on 31st December, 2016 :

Debit Balances 4
Opening Stock 30,000
Advertising 7,000
Wages 1,500
Factory Rent 1,000
Carriage Inwards 500
Return Inwards 550
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Salaries 3,300
Office Rent 700
Plant 10,000
Purchases 1,35,000
Bills Receivable 1,500
Cash 3,500
Furniture 2,000
Debtors 9,000
General Expenses 800
Drawings 3,000
Insurance 200
2,09,550

Credit Balances 3

Capital 40,000
Bad Debts Reserve 500
Discount 800
Bills Payable 4,200
Sales 1,59,100
Returns Outwards 350
Creditors 4,600
2,09,550

Your are required to prepare trading account, Profit &
Loss account and balance sheet after taking into

account the following adjustments :

P.T.O.
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Closing stock was valued at ¥ 42,000.

Salaries outstanding ¥ 300 and Wages
outstanding ¥ 500.

Unexpired insurance ¥ 50.
Depreciate plant by 10% and Furniture 15%.

Write off ¥ 1,000 as bad debts and create reserve
for doubtful debts at 5% and for discount on
debtor at 2%.

ol M HAR BT 31 IHw=R, 2016 DI defye FrafeiiRaa

2
sfic o 4

RS Tih 30,000
faTo 7,000
AR 1,500
Bl BT fbRran 1,000
RICEaR S| 500
RIRIECACIER] 550
qad 3,300
3T BT =T 700
RRE] 10,000
) 1,35,000
U U 1,500
NG 3,500
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TriTa] 2,000
qeR 9,000
T Y 800
3TEXY] 3,000
T 200

2,09,550

oics o9 4

LSl 40,000
g9d KT Al 500
Be 800
< faua 4,200
GER 1,59,100
qrel 9rol 350
FGR 4,600

2,09,550

ffeiRad FARIGHI @l €9 ¥ Ed §Y SIS AR
T, oM 3R B Wi 3R dois e dIR &Rl B

(&) i< Wi B Jod T 42,000 |
(@) 9T IHRT T 300 AR AWGY GBI T 500 |

P.T.O.
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() o 44 2 50 |

(3) WIF B AT Bl 10% 3R BFR & Id Bl 15%
¥ IR faam Sy |

(@ % 1,000 S9T FU & ®Y H yufeRgd I TR
IR wfey =0 @ forv 5% & F99 AT AN
T SIGR W GC & oY 2% 1 Yrae o
Y |

Explain term ‘Variance’ under standard costing and
describe its significance. What are the different types
of labour variance and how they are calculated ?

AM® NG & ded ‘IR 3 &1 el difviy g

S Aed G U B | 5 IR & R yaR

PH-HIA- & MR TG TUET $A B Ol & 2
Section-B / Yrs—g

(Short Answer Type Questions) / (75 STRIF U%)

Note : Section ‘B’ contains eight (08) short answer type

e

1.

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

Qg ‘@ # 36 (08) oY I T ¥ W |
TAG Y b faU oMo (08) ofw fwiRa
fRrEiRI @ $H W dad IR (04) Tl b IR <
g |

Significance and Limitation of Accounting Principles.
orEiad Rigral & 7gd vd A |
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Procedure of preparing Balance Sheet.
qoF U3 (Soi¥ fie) 9 @1 fafer |
Elements of a Good Financial Statement.

3w foxir faavor & amgeged dd |

Ratios used for Judging the Short-term and Long-term
Solvency of the Firm.

fordl AT BT ST qAT SDpTelle I &l
@1 Sird @ foly Jgwh U |

Fixed Expenses ¥ 4,000

Break-even Point ¥ 10,000

Calculate :

(i) P/V ratio

(if)  Profit when sales are ¥ 20,000

(iii) New Break-even Point if selling price is reduced
by 20%.

W Y % 4,000
gA-foegs fdg 10,000
BT

(iy P/V U

(i) ™, 59 faT T 20,000 &
(iii) =1 gu-fazee fowg afe fama qea 20 wftord @A
B fear S |

P.T.O.



6.

[8] S-337

EBIT-EPS approaches for determining Capital
Structure of a Company.

Uh FFA B Yol WREA B R aRA @ forg
g 9 o, A-3. 0 vE. Sfean

Various techniques used for Incorporating Risk Factor
in Capital Budgeting Decisions.

ISl gofed ol # SIReH BRe Bl FHIIE o 2]
Ugh A= qheieh |

Guidelines Issued by the Government of India to
govern the Issue of Bonus Shares by the Companies.

e g R WAR gRT R g T fear-feer |

Section-C / ¥Uvs—1T
(Objective Type Questions) / (@& T)

Note : Section ‘C’ contains ten (10) objective type

e

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T H g9 (10) TS WA A W 2| IS
g @ forv ue (01) oiF FuiRa 2 @ wve @
Y oo afard € |

Fill in the blanks with appropriate words or phrases :

SfYd wes 7 ariE & Wil Reb Wl a1 g B :

1.

Angle of incidence defines ..........

RILGE cblul/K;”O‘i Sﬁ-q; ?{ﬁ\’?@ﬂ? ............ aﬁ. ﬁ fE
AT 2 |
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Break Even Chart is a graphical representation of ........

9-foege  @r-foa &1 feaere  ufafafde
B B |

fohaTeH® oic AR TR A B FHIIE FR

Balance sheet is known as ............ statement.
W‘W/(’Jﬂ-@_cﬁ %@T/ﬁ%ﬁ%{ ﬁ_CR'UT ................ ﬁ_CR'UT T
3 off 9T S B

Capital Budgeting Decisions are based on ..........

Write True or False against the following :

fAefoRad & 9me 9 a7 39y forfau ¢

6.

The contribution margin ratio is calculated by using
formula (Sales — Variable Expenses)/Fixed Expenses.
(True/False)

e A U B oA (f[dhd — gREdeEid
) /3 @, G B AR W B o 2
GRVELR)

Under marginal costing stock are valued at variable
cost. (True/False)

AHid AT ¥ i Bl HedThe YRac-Rile arTd gRI
o ST & |

P.T.O.
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8. Sales budget is a functional budget. (True/False)
EEREESCR IR A T (1 / 1)

9. Patent Rights account is a personal account.
(True/False)

Uee WM Ve AT TR &7 WMl € | (97 / 3R7)

10. In case of Net Income Approach, the Cost of equity is

constant. (True/False)
IE A eI H T ANTd @I Bl 2|

GRVAENS)
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